*6.118 For the piping system of Fi
of 0.04 inch. Neglecting minor los

g. P6.118, all pipes are concrete with a roughness
Ibffin?. The flow rate is 20 ft3s of wi

S€8, compute the overall pressure drop p; - P2 in
ater at 20°C,

Solution: For water at 20°C, take £ = 1.94 slug/fe®

and g = 2.09E-5 slug/ft-s. Since the
pipes are all different make a little table of their respe "

ctive L/d and e/d:

Bin

D=
L=1500ft

D=12in

e
N LB00T
d D=15in
== L=1200f
Fig. P6.118

(@) L=1000ft, d=12in, L/d= 1000, eld = 0.00333

® 1500 ft 8in 2250 0.00500
(© 800 ft 12in 800 000333
(@ 1200 ft 15in 960 0.00267
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